

# Moments and asymptotic expansion of derangement polynomials in terms of Touchard polynomials

Mohammad Ghorbani<sup>1</sup>, Mehdi Hassani<sup>2</sup>  
and Hossein Moshtagh<sup>3</sup>

<sup>1</sup> Department of Mathematics, Faculty of Science, University of Zanjan  
University Blvd., 45371-38791, Zanjan, Iran  
e-mail: m\_ghorbani@znu.ac.ir

<sup>2</sup> Department of Mathematics, Faculty of Science, University of Zanjan  
University Blvd., 45371-38791, Zanjan, Iran  
e-mail: mehdi.hassani@znu.ac.ir

<sup>3</sup> Department of Computer Science, University of Garmsar  
35881-15589, Garmsar, Iran  
e-mail: h.moshtagh@fmgarmsar.ac.ir

**Received:** 12 October 2024    **Accepted:** 26 November 2024    **Online First:** 30 November 2024

**Abstract:** In this paper we study the polynomial  $\widehat{D}_n(x) = n! \sum_{j=0}^n x^j / j!$ , which is a variant of derangement polynomials. First we obtain an asymptotic expansion for  $\widehat{D}_n(x)$  with coefficients in terms of Touchard polynomials. Then, we compute the moments  $\sum_{n=0}^{\infty} (e^x n! - \widehat{D}_n(x))^k$  for any integer  $k \geq 1$  and any real  $x \in [0, 1)$ .

**Keywords:** Derangement polynomial, Touchard polynomials, Bell numbers.

**2020 Mathematics Subject Classification:** 05A05, 05A16, 11B73.



# 1 Introduction

## 1.1 Derangement polynomials

A derangement is a permutation that has no fixed points. We denote the number of derangements on a set of cardinality  $n$  by  $D_n$ . The derangement polynomials are natural extensions of the derangement numbers, mostly admitting  $D_n$  in a certain value. These polynomials are defined in several different ways in literature [5, 8, 9, 23, 24, 33, 34], but the most common definition is

$$D_n(x) = n! \sum_{j=0}^n \frac{(-1)^j}{j!} x^{n-j}. \quad (1.1)$$

This definition appears in the work of Radoux [33, 34], where he studied a Hankel determinant constructed on  $D_n(x)$ . These polynomials are associated with the number of derangements on a set of cardinality  $n$  by  $D_n = D_n(1)$ .

In this paper we consider the following variant of the derangement polynomial, defined for any integer  $n \geq 0$  and any real  $x \neq 0$  by

$$\widehat{D}_n(x) = n! \sum_{j=0}^n \frac{x^j}{j!}, \quad (1.2)$$

and for  $x = 0$  by  $\widehat{D}_n(0) = n!$ . As a classical result, Sylvester [39, p. 516] (see also [32, p. 46]) studied the roots of  $\widehat{D}_n(x)$  by showing that it has no real zero or one real zero according as  $n$  is even or odd. Also, this polynomial is known as derangement function [17, p. 6] and satisfies the following generalized recursive relations

$$\begin{aligned} \widehat{D}_n(x) &= (x+n)\widehat{D}_{n-1}(x) - x(n-1)\widehat{D}_{n-2}(x) \\ &= x^n + n\widehat{D}_{n-1}(x), \end{aligned}$$

with initial values  $\widehat{D}_0(x) = 1$  and  $\widehat{D}_1(x) = x + 1$ . Note that  $\widehat{D}_n(-1) = D_n$ . Also  $\widehat{D}_n(0) = n!$ , which is indeed the number of permutations of  $n$  distinct objects. Moreover  $\widehat{D}_n(1) = w_{n+2}$ , where  $w_{n+2}$  denotes the number of all distinct paths between a specific pair of vertices in a complete graph on  $n + 2$  vertices (see [18, 19] and the references given there).

## 1.2 Asymptotic results

Analytic enumeration concerns with the study of asymptotic behaviour of combinatorial subjects, and making precise the counting formulas in sense of their magnitude. We refer the interested reader to [1, 4, 12, 16, 27, 28, 35, 38] for this topic and around. In this paper we refer to the notion of asymptotic series [13, Section 1.5], due to Poincaré. Accordingly, an asymptotic expansion for  $D_n$  has been obtained in [20, Theorem 3] by showing that given any positive integer  $r$ , for any integer  $n \geq 1$  we have

$$D_n = \frac{n!}{e} + \sum_{k=1}^r (-1)^{n+k-1} \frac{B_k}{n^k} + \tilde{O}\left(\frac{B_{r+1}}{n^{r+1}}\right), \quad (1.3)$$

where  $B_k$  denotes the  $k$ -th Bell number [41, p. 178], and through the paper by  $f = \tilde{O}(g)$  we mean  $|f| \leq g$ , providing an explicit version of Bachmann–Landau Big  $O$  notation. We refer the interested reader to [11, 14] for more relations between the number of derangements and Bell numbers.

Similar to (1.3), an asymptotic expansion for  $w_{n+2}$  has been obtained in [21, Theorem 1.1] by showing that there exist computable constants  $c_1, \dots, c_r$  such that

$$w_{n+2} = e n! - \sum_{k=1}^r \frac{c_k}{n^k} + \tilde{O}\left(\frac{e^2 B_{r+1}}{n^{r+1}}\right). \quad (1.4)$$

Dobinski's formula [41, p. 178] concerning the  $k$ -th Bell number asserts that

$$e B_k = \sum_{j=0}^{\infty} \frac{j^k}{j!}. \quad (1.5)$$

The constants  $c_k$  in (1.4) match the  $k$ -th term of the sequence A014182 on OEIS [37], and satisfy the following alternating form of Dobinski's formula

$$\frac{(-1)^k}{e} c_k = \sum_{j=0}^{\infty} (-1)^j \frac{j^k}{j!}. \quad (1.6)$$

Some initial values of  $c_k$  is 1, 0, -1, 1, 2, -9, 9, 50, -267, 413.

In this paper, first we obtain an asymptotic expansion concerning  $\widehat{D}_n(x)$  with explicit error term. Our work generalize asymptotic expansions (1.3) and (1.4). More precisely, we prove the following result.

**Theorem 1.1.** *Given any positive integer  $r$ , for any integer  $n \geq 1$  and any real  $x \neq 0$  we have the asymptotic expansion*

$$\widehat{D}_n(x) = e^x n! - x^n \sum_{k=1}^r \frac{(-1)^k}{n^k} T_k(-x) + \tilde{O}\left(\frac{|x|^n}{n^{r+1}} e^{x+|x|} T_{r+1}(|x|)\right), \quad (1.7)$$

where  $T_k(x)$  is the  $k$ -th Touchard polynomial.

**Remark 1.1.** *The Touchard polynomials  $T_k(x)$ , studied by Jacques Touchard [40], defined by*

$$T_k(x) = \sum_{j=0}^k S(k, j) x^j,$$

where  $S(k, j)$  is the Stirling numbers of the second kind, counting the number of partitions of a set of size  $k$  into  $j$  disjoint non-empty subsets. Thus,  $T_k(x)$  is a generating function for the finite sequence  $(S(k, j))_{0 \leq j \leq k}$ . We refer the interested reader to [6, 7, 10, 25, 30, 31, 42] and [36, Chapter 5] for the above definition and a remarkable number of properties, including the following identity

$$B_k = T_k(1),$$

and the probabilistic property asserting that if  $X$  is a random variable with a Poisson distribution with expected value  $x$ , then its  $k$ -th moment is  $E(X^k) = T_k(x)$  (see the second page of [31]). This leads to the following analogue of Dobinski's formula

$$e^x T_k(x) = \sum_{j=0}^{\infty} x^j \frac{j^k}{j!}. \quad (1.8)$$

Note that for  $x = 1$  the relation (1.8) coincides with (1.5), and for  $x = -1$  it coincides with (1.6). More precisely, we have

$$c_k = (-1)^k T_k(-1). \quad (1.9)$$

Moreover, we observe that for  $x = -1$  and  $x = 1$  the relation (1.7) implies (1.3) and (1.4), respectively.

A simple algebraic computation shows that the polynomials  $D_n(x)$  and  $\widehat{D}_n(x)$  are related for any real  $x \neq 0$  by the following identities

$$D_n(x) = x^n \widehat{D}_n\left(-\frac{1}{x}\right), \quad \widehat{D}_n(x) = (-x)^n D_n\left(-\frac{1}{x}\right). \quad (1.10)$$

The above relations allow us to transfer results between  $D_n(x)$  and  $\widehat{D}_n(x)$ . Accordingly, the truth of Theorem 1.1 reads as follows.

**Corollary 1.1.** *Given any positive integer  $r$ , for any integer  $n \geq 1$  and any real  $x \neq 0$  we have the asymptotic expansion*

$$D_n(x) = x^n e^{-\frac{1}{x}} n! - (-1)^n \sum_{k=1}^r \frac{(-1)^k}{n^k} T_k\left(\frac{1}{x}\right) + \widetilde{O}\left(\frac{1}{n^{r+1}} e^{-\frac{1}{x} + \frac{1}{|x|}} T_{r+1}\left(\frac{1}{|x|}\right)\right),$$

where  $D_n(x)$  is the derangement polynomial defined by (1.1) and  $T_k(x)$  is the  $k$ -th Touchard polynomial.

### 1.3 Moment results

The moments of the combinatorial differences  $D_n - e^{-1}n!$  and  $w_{n+2} - en!$  have been computed in [20, Theorem 2] and [21, Theorem 1.4], respectively. As a generalization, recently in [22] we computed the  $k$ -th moments of the difference  $D_n(x) - x^n e^{-\frac{1}{x}} n!$  for any real  $x > 0$  and each integer  $k \geq 1$ . Because of the condition  $x > 0$  we cannot use the transferring formulas (1.10) to convert the above mentioned moment results in terms of  $\widehat{D}_n(x)$ . Although, following similar argument as in [20–22] we are able to obtain the following.

**Theorem 1.2.** *For any integer  $k \geq 1$  and any real  $x \in [0, 1)$  we have*

$$\mathcal{M}_k(x) := \sum_{n=0}^{\infty} \left( e^x n! - \widehat{D}_n(x) \right)^k = e^{kx} \int_0^x \cdots \int_0^x \frac{e^{-(z_1 + \cdots + z_k)}}{1 - z_1 \cdots z_k} d\mathbf{Z}, \quad (1.11)$$

where  $\mathbf{Z}$  represents the  $k$ -tuple  $(z_1, \dots, z_k)$ . More precisely,

$$\mathcal{M}_1(x) = e^{x-1} (\text{Ei}(1) - \text{Ei}(1-x)), \quad (1.12)$$

where the exponential integral function  $\text{Ei}$  [29, Section 6.2] is defined by the Cauchy principal value of the integral

$$\text{Ei}(x) = - \int_{-x}^{\infty} \frac{e^{-z}}{z} dz.$$

Also,

$$\mathcal{M}_2(x) = 4e^{2x} \int_0^{\frac{x}{2}} \widehat{h}(z) dz, \quad (1.13)$$

where

$$\widehat{h}(z) = \frac{e^{-2z}}{\sqrt{1-z^2}} \tan^{-1} \frac{z}{\sqrt{1-z^2}} + \frac{e^{2z-2x}}{\sqrt{1-(x-z)^2}} \tan^{-1} \frac{z}{\sqrt{1-(x-z)^2}}.$$

**Remark 1.2.** The function  $\mathcal{M}_1(x)$  defined by (1.12) satisfies  $\mathcal{M}_1(0) = 0$  and  $\lim_{x \rightarrow 1^-} \mathcal{M}_1(x) = +\infty$ . Moreover, it satisfies the differential equation  $\mathcal{M}'_1(x) = \mathcal{M}_1(x) + 1/(1-x)$ . Thus,  $\mathcal{M}'_1(x) > 0$  for  $x \in [0, 1)$ .

## 2 Proofs

### 2.1 Proof of Theorem 1.1

Let  $P(n, j)$  be the number of  $j$ -permutations of  $n$  objects. We rewrite  $\widehat{D}_n(x)$  in terms of  $P(n, j)$  as follows

$$\widehat{D}_n(x) = \sum_{j=0}^n P(n, j) x^{n-j} = x^n \sum_{j=0}^n P(n, j) \left(\frac{1}{x}\right)^j.$$

Regarding a generating function for the finite sequence  $(P(n, j))_{0 \leq j \leq n}$ , it is known [21, Theorem 1.3] that for any integer  $n \geq 0$  and for each real  $x \neq 0$  we have

$$\sum_{j=0}^n P(n, j) x^j = (-1)^n x^n e^{\frac{1}{x}} \int_{-\infty}^{-\frac{1}{x}} t^n e^t dt. \quad (2.1)$$

Replacing  $x$  by  $\frac{1}{x}$ , and changing the variable  $t \rightarrow -t$  in the last integral, we deduce that

$$\widehat{D}_n(x) = e^x \Gamma(n+1, x),$$

where  $\Gamma(\alpha, z)$  is the incomplete gamma function (see [29, Chapter 8] and [41, p. 1473]) defined by

$$\Gamma(\alpha, z) = \int_z^{\infty} t^{\alpha-1} e^{-t} dt.$$

Note that  $n! = \int_0^{\infty} t^n e^{-t} dt$ . Thus,

$$\widehat{D}_n(x) = e^x n! - \mathcal{R}_n(x), \quad (2.2)$$

where  $\mathcal{R}_n(x) = e^x \mathcal{I}_n(x)$  with

$$\mathcal{I}_n(x) = \int_0^x t^n e^{-t} dt.$$

The rest of proof is to obtain an asymptotic for  $\mathcal{I}_n(x)$ . Following an argument similar to the proofs of [20, Theorem 3] and [21, Theorem 1.1] we have

$$\mathcal{I}_n(x) = \int_0^x t^n \sum_{j=0}^{\infty} \frac{(-t)^j}{j!} dt = \sum_{j=0}^{\infty} \frac{(-1)^j}{j!} \int_0^x t^{n+j} dt = \sum_{j=0}^{\infty} \frac{(-1)^j x^{n+j+1}}{j!(n+j+1)}.$$

We split the last sum by using the following simple but useful identity, which is valid for any real  $c$  and positive integer  $r$ , provided  $n+c \neq 0$ ,

$$\frac{1}{n+c} = \sum_{k=1}^r (-1)^{k-1} \frac{c^{k-1}}{n^k} + \frac{(-1)^r}{n+c} \left(\frac{c}{n}\right)^r.$$

Since  $n > 0$ , taking  $c = j+1$  with  $j \geq 0$  fulfills the above condition. Thus,

$$\begin{aligned} \sum_{j=0}^{\infty} \frac{(-1)^j x^{n+j+1}}{j!(n+j+1)} &= \sum_{j=0}^{\infty} \sum_{k=1}^r \frac{(-1)^{k-1} (-1)^j (j+1)^{k-1}}{n^k j!} x^{n+j+1} \\ &\quad + (-1)^r \sum_{j=0}^{\infty} \frac{(-1)^j}{j!(n+j+1)} \left(\frac{j+1}{n}\right)^r x^{n+j+1}. \end{aligned}$$

Therefore,

$$\mathcal{I}_n(x) = \sum_{k=1}^r \frac{(-1)^{k-1} x^n}{n^k} \sum_{j=0}^{\infty} \frac{(-1)^j (j+1)^{k-1}}{j!} x^{j+1} + \frac{(-1)^r x^n}{n^r} \sum_{j=0}^{\infty} \frac{(-1)^j (j+1)^r}{j!(n+j+1)} x^{j+1}.$$

Note that Touchard polynomials are hidden in hear of the inner sum, because

$$\begin{aligned} \sum_{j=0}^{\infty} \frac{(-1)^j (j+1)^{k-1}}{j!} x^{j+1} &= \sum_{j=0}^{\infty} (-1)^j \frac{(j+1)^k}{(j+1)!} x^{j+1} = \sum_{j=1}^{\infty} (-1)^{j-1} \frac{j^k}{j!} x^j \\ &= - \sum_{j=1}^{\infty} (-x)^j \frac{j^k}{j!} = - \sum_{j=0}^{\infty} (-x)^j \frac{j^k}{j!} = -e^{-x} T_k(-x). \end{aligned}$$

Also, we have

$$\left| \sum_{j=0}^{\infty} \frac{(-1)^j (j+1)^r}{j!(n+j+1)} x^{j+1} \right| \leq \sum_{j=0}^{\infty} \frac{(j+1)^r}{j!(n+j+1)} |x|^{j+1} < \frac{1}{n} \sum_{j=0}^{\infty} \frac{(j+1)^r}{j!} |x|^{j+1}.$$

Note that

$$\sum_{j=0}^{\infty} \frac{(j+1)^r}{j!} |x|^{j+1} = \sum_{j=0}^{\infty} \frac{(j+1)^{r+1}}{(j+1)!} |x|^{j+1} = \sum_{j=1}^{\infty} \frac{j^{r+1}}{j!} |x|^j = \sum_{j=0}^{\infty} \frac{j^{r+1}}{j!} |x|^j.$$

Thus, we get

$$\left| \sum_{j=0}^{\infty} \frac{(-1)^j (j+1)^r}{j!(n+j+1)} x^{j+1} \right| < \frac{1}{n} \sum_{j=0}^{\infty} \frac{j^{r+1}}{j!} |x|^j = \frac{1}{n} e^{|x|} T_{r+1}(|x|).$$

Considering the above estimates we deduce that

$$\mathcal{R}_n(x) = x^n \sum_{k=1}^r \frac{(-1)^k}{n^k} T_k(-x) + \tilde{\mathcal{O}} \left( \frac{|x|^n}{n^{r+1}} e^{x+|x|} T_{r+1}(|x|) \right). \quad (2.3)$$

This completes the proof of Theorem 1.1. □

**Remark 2.1.** We may rewrite  $\mathcal{I}_n(x)$  in terms of the (second) incomplete gamma function [29, Chapter 8] defined by

$$\gamma(\alpha, z) = \int_0^z t^{\alpha-1} e^{-t} dt \quad (\Re(\alpha) > 0).$$

Moreover, in the proof of (2.3) we may take  $n > -1$  any arbitrary real. Thus, from (2.3) we deduce that

$$\mathcal{I}_n(x) = \gamma(n+1, x) = \frac{x^n}{e^x} \sum_{k=1}^r \frac{(-1)^k}{n^k} T_k(-x) + \tilde{\mathcal{O}} \left( \frac{|x|^n}{n^{r+1}} e^{|x|} T_{r+1}(|x|) \right).$$

For more related expansions see [29, Section 8.7].

## 2.2 Proof of Theorem 1.2

We conclude from (2.2) that

$$\mathcal{M}_k(x) = \sum_{n=0}^{\infty} \left( e^x \int_0^x t^n e^{-t} dt \right)^k = e^{kx} \lim_{N \rightarrow \infty} \sum_{n=0}^N \left( \int_0^x t^n e^{-t} dt \right)^k.$$

By using Fubini's theorem [3, Theorem 5.32] we deduce that

$$\begin{aligned} \mathcal{M}_k(x) &= e^{kx} \lim_{N \rightarrow \infty} \sum_{n=0}^N \prod_{j=1}^k \left( \int_0^x z_j^n e^{-z_j} dz_j \right) \\ &= e^{kx} \lim_{N \rightarrow \infty} \sum_{n=0}^N \int_0^x \cdots \int_0^x \prod_{j=1}^k (z_j^n e^{-z_j}) d\mathbf{z} \\ &= e^{kx} \lim_{N \rightarrow \infty} \int_0^x \cdots \int_0^x e^{-(z_1 + \cdots + z_k)} \sum_{n=0}^N (z_1 \cdots z_k)^n d\mathbf{z} \\ &= e^{kx} \lim_{N \rightarrow \infty} \int_0^x \cdots \int_0^x e^{-(z_1 + \cdots + z_k)} \left( \frac{1 - (z_1 \cdots z_k)^{N+1}}{1 - z_1 \cdots z_k} \right) d\mathbf{z}. \end{aligned}$$

Now we use the bounded convergence theorem [3, Theorem 3.26] to interchange the limit and multiple integral in the last relation. Since  $\lim_{N \rightarrow \infty} (z_1 \cdots z_k)^{N+1} = 0$ , we obtain (1.11).

For  $k = 1$ , the relation (1.11) reads as follows

$$\mathcal{M}_1(x) = e^x \int_0^x \frac{e^{-t}}{1-t} dt.$$

To evaluate the last integral we apply the change of variable  $-z = 1 - t$ , satisfying  $t = 1 + z$  and  $dt = dz$ . Therefore

$$\int_0^x \frac{e^{-t}}{1-t} dt = \int_{-1}^{x-1} \frac{e^{-1-z}}{-z} dz = e^{-1} \left( - \int_{-1}^{-(1-x)} \frac{e^{-z}}{z} dz \right) = e^{-1} (\text{Ei}(1) - \text{Ei}(1-x)).$$

This gives (1.12).

For  $k = 2$ , the relation (1.11) reads as follows

$$\mathcal{M}_2(x) = e^{2x} \int_0^x \int_0^x \frac{e^{-(z_1+z_2)}}{1 - z_1 z_2} dA_{z_1, z_2}.$$

We denote the last double integral by  $\mathcal{J}$ . To compute  $\mathcal{J}$  we follow an argument due to LeVeque [26], which has been described by Aigner and Ziegler in [2, Chapter 9]. Accordingly, we apply the change of coordinates by letting  $u = (z_2 + z_1)/2$  and  $v = (z_2 - z_1)/2$ . We get the new domain of integration from old domain by first rotating it by  $-45^\circ$  and then shrinking it by a factor of  $\sqrt{2}$ . This new domain of integration and the function to be integrated are symmetric with respect to the  $u$ -axis. Also,  $dA_{z_1, z_2} = 2dA_{u, v}$ . Therefore,

$$\begin{aligned} \mathcal{J} &= 4 \int_0^{\frac{x}{2}} \int_0^u \frac{e^{-2u}}{1 - u^2 + v^2} dv du + 4 \int_{\frac{x}{2}}^x \int_0^{x-u} \frac{e^{-2u}}{1 - u^2 + v^2} dv du \\ &= 4 \int_0^{\frac{x}{2}} \frac{e^{-2u}}{\sqrt{1 - u^2}} \tan^{-1} \frac{u}{\sqrt{1 - u^2}} du + 4 \int_{\frac{x}{2}}^x \frac{e^{-2u}}{\sqrt{1 - u^2}} \tan^{-1} \frac{x - u}{\sqrt{1 - u^2}} du. \end{aligned}$$

By letting  $z = x - u$  in the last integral and simplifying we obtain (1.13), hence concluding the proof.  $\square$

### 3 Conclusion

The idea of representing combinatorial numbers by integrals is a fruitful one, first done for generalized derangements by Even and Gillis [15]. By generalized derangements we mean the problem of redistributing elements of sets (boxes) of given sizes  $n_1, n_2, \dots, n_k$  in such a way that nothing stays in the set (box) it originally occupied. Recently, the second author of the present paper, obtained integral representations for  $D_n$ , the number of derangements on a set of cardinality  $n$ , and  $w_{n+2}$ , the number of all distinct paths between a specific pair of vertices in a complete graph on  $n + 2$  vertices, as follows

$$D_n = \frac{n!}{e} + \sum_{k=1}^r (-1)^{n+k-1} \frac{B_k}{n^k} + \tilde{\mathcal{O}}\left(\frac{B_{r+1}}{n^{r+1}}\right), \quad \text{and} \quad w_{n+2} = e n! - \sum_{k=1}^r \frac{c_k}{n^k} + \tilde{\mathcal{O}}\left(\frac{e^2 B_{r+1}}{n^{r+1}}\right),$$

where  $B_k$  denotes the  $k$ -th Bell number,  $c_k$  is the sequence A014182 on OEIS [37], and by  $f = \tilde{\mathcal{O}}(g)$  we mean  $|f| \leq g$ . Motivated by gathering the above asymptotic relations, in this paper we consider the following variant of the derangement polynomial, defined for any integer  $n \geq 0$  and any real  $x \neq 0$  by

$$\hat{D}_n(x) = n! \sum_{j=0}^n \frac{x^j}{j!}.$$

Hence,  $\hat{D}_n(-1) = D_n$  and  $\hat{D}_n(1) = w_{n+2}$ . We show that given any positive integer  $r$ , for any integer  $n \geq 1$  and any real  $x \neq 0$  we have

$$\hat{D}_n(x) = e^x n! - x^n \sum_{k=1}^r \frac{(-1)^k}{n^k} T_k(-x) + \tilde{\mathcal{O}}\left(\frac{|x|^n}{n^{r+1}} e^{x+|x|} T_{r+1}(|x|)\right),$$



where  $T_k(x)$  is the  $k$ -th Touchard polynomial, admitting  $B_k = T_k(1)$  and  $c_k = (-1)^k T_k(-1)$ . Moreover, we study the moments of the difference  $e^x n! - \widehat{D}_n(x)$ , by showing that for any integer  $k \geq 1$  and any real  $x \in [0, 1)$  we have

$$\mathcal{M}_k(x) := \sum_{n=0}^{\infty} \left( e^x n! - \widehat{D}_n(x) \right)^k = e^{kx} \int_0^x \cdots \int_0^x \frac{e^{-(z_1 + \cdots + z_k)}}{1 - z_1 \cdots z_k} d\mathbf{Z},$$

where  $\mathbf{Z}$  represents the  $k$ -tuple  $(z_1, \dots, z_k)$ . More precisely,  $\mathcal{M}_1(x) = e^{x-1} (\text{Ei}(1) - \text{Ei}(1-x))$ , where Ei denotes the exponential integral function, and

$$\mathcal{M}_2(x) = 4e^{2x} \int_0^{\frac{x}{2}} \left( \frac{e^{-2z}}{\sqrt{1-z^2}} \tan^{-1} \frac{z}{\sqrt{1-z^2}} + \frac{e^{2z-2x}}{\sqrt{1-(x-z)^2}} \tan^{-1} \frac{z}{\sqrt{1-(x-z)^2}} \right) dz.$$

## Acknowledgements

The authors wish to express their gratitude to the anonymous referee(s) for careful reading of the manuscript and giving valuable comments.

## References

- [1] Aigner, M. (2007). *A Course in Enumeration*. Springer, Berlin.
- [2] Aigner, M., & Ziegler, G. M. (2018). *Proofs From The Book (Sixth Edition)*. Springer, Berlin.
- [3] Axler, S. (2020). *Measure, Integration & Real Analysis*. Springer, Berlin.
- [4] Bender, E. A. (1974). Asymptotic methods in enumeration. *SIAM Review*, 16, 485–515.
- [5] Benyattou, A. (2020). Derangement polynomials with a complex variable. *Notes on Number Theory and Discrete Mathematics*, 26(4), 128–135.
- [6] Brafman, F. (1957). On Touchard polynomials. *Canadian Journal of Mathematics*, 9, 191–193.
- [7] Carlitz, L. (1957). Some polynomials of Touchard connected with the Bernoulli numbers. *Canadian Journal of Mathematics*, 9, 188–190.
- [8] Chow, C.-O. (2006). On derangement polynomials of type  $B$ . *Séminaire Lotharingien de Combinatoire*, 55, Article B55b.
- [9] Chow, C.-O. (2009). On derangement polynomials of type  $B$ . II. *Journal of Combinatorial Theory, Series A*, 116(4), 816–830.
- [10] Chrysaphinou, O. (1985). On Touchard polynomials. *Discrete Mathematics*, 54(2), 143–152.

- [11] Clarke, R. J., & Sved, M. (1993). Derangements and Bell numbers. *Mathematics Magazine*, 66(5), 299–303.
- [12] Comtet, L. (1974). *Advanced Combinatorics: The Art of Finite and Infinite Expansions*. Dordrecht, Reidel.
- [13] De Bruijn, N. G. (1961). *Asymptotic Methods in Analysis*. North-Holland Publishing Co., Amsterdam.
- [14] Du, Z., & da Fonseca, C. M. (2022). An identity involving derangement numbers and Bell numbers. *Applicable Analysis and Discrete Mathematics*, 16(2), 485–494.
- [15] Even, S., & Gillis, J. (1976). Derangements and Laguerre polynomials. *Mathematical Proceedings of the Cambridge Philosophical Society*, 79, 135–143.
- [16] Flajolet, P., & Sedgewick, R. (2009). *Analytic Combinatorics*. Cambridge University Press, Cambridge.
- [17] Hassani, M. (2003). Derangements and applications. *Journal of Integer Sequences*, 6, Article 03.1.2.
- [18] Hassani, M. (2004). Cycles in graphs and derangements. *The Mathematical Gazette*, 88(511), 123–126.
- [19] Hassani, M. (2018). Enumeration by  $e$ . *Modern Discrete Mathematics and Analysis: With Applications in Cryptography, Information Systems and Modelling*, pp. 227–233. Springer, Switzerland.
- [20] Hassani, M. (2020). Derangements and alternating sum of permutations by integration. *Journal of Integer Sequences*, 23, Article 20.7.8.
- [21] Hassani, M. (2021). On a difference concerning the number  $e$  and summation identities of permutations. *Journal of Inequalities and Special Functions*, 12(1), 14–22.
- [22] Hassani, M., Moshtagh, H., & Ghorbani, M. (2022). Some results on derangement polynomials. *Commentationes Mathematicae Universitatis Carolinae*, 63(3), 307–313.
- [23] Jang, L. C., Kim, D. S., Kim, T., & Lee, H. (2020). Some identities involving derangement polynomials and numbers and moments of gamma random variables. *Journal of Function Spaces*, 2020(1), Article 6624006.
- [24] Kim, T., Kim, D. S., Lee, H., & Jang, L. C. (2021). A note on degenerate derangement polynomials and numbers. *AIMS Mathematics*, 6, 6469–6481.
- [25] Kuzmin, O. V., & Leonova, O. V. (2000). Touchard polynomials and their applications. *Discrete Mathematics and Applications*, 10(4), 391–402.
- [26] LeVeque, W. J. (1956). *Topics in Number Theory (Vol. I)*. Addison-Wesley, Boston.

- [27] Lovász, L. (1993). *Combinatorial Problems and Exercises*. North-Holland Publishing Co., Amsterdam.
- [28] Odlyzko, A. M. (1995). *Asymptotic enumeration methods. Handbook of Combinatorics, Volumes 1, 2*, pp. 1063–1229. Elsevier, Amsterdam.
- [29] Olver, F. W. J., Lozier, D. W., Boisvert, R. F., & Clark, C. W. (editors). (2010). *NIST Handbook of Mathematical Functions*. Cambridge University Press, Cambridge.
- [30] Paris, R. B. (2016). The asymptotics of the Touchard polynomials. *Mathematica Aeterna*, 6 (5), 765–779.
- [31] Pinsky, R. G. (2017). Some connections between permutation cycles and Touchard polynomials and between permutations that fix a set and covers of multisets. *Electronic Communications in Probability*, 22, Paper No. 17.
- [32] Pólya, G., Szegő, G. (1998). *Problems and Theorems in Analysis II*. Springer, Berlin.
- [33] Radoux, Ch. (2000). Addition formulas for polynomials built on classical combinatorial sequences. *Journal of Computational and Applied Mathematics*, 115(1–2), 471–477.
- [34] Radoux, Ch. (1991). Déterminant de Hankel construit sur des polynômes liés aux nombres de dérangements. *European Journal of Combinatorics*, 12(4), 327–329.
- [35] Riordan, J. (1968). *Combinatorial Identities*. John Wiley and Sons, Inc., New York.
- [36] Sándor, J., & Crstici, B. (2004). *Handbook of Number Theory II*. Springer, Dordrecht.
- [37] Sloane, N. J. A. *The On-line Encyclopaedia of Integer Sequences*. Available online at: <https://oeis.org>.
- [38] Spivey, M. Z. (2019). *The Art of Proving Binomial Identities*. CRC Press, Boca Raton, FL.
- [39] Sylvester, J. J. (1908). *The Collected Mathematical Papers. Volume II: (1854–1873)*. Cambridge University Press, Cambridge.
- [40] Touchard, J. (1939). Sur les cycles des substitutions. *Acta Mathematica*, 70, 243–297.
- [41] Weisstein, E. W. (2003). *CRC Concise Encyclopedia of Mathematics (Second Edition)*. Chapman & Hall/CRC, Boca Raton, FL.
- [42] Wyman, M., & Moser, L. (1956). On some polynomials of Touchard. *Canadian Journal of Mathematics*, 8, 321–322.